
 

 

Answer on Question #47605 - Math  - Algebra 

In a college fou-ninths of all employees are faculty and the ratio of the faculty to 

support staff is 5:4.how many people does the college employ if the aupport staff 

numbers 192? 

 

Solution. 

There is a contradiction in terms: if  
𝒇𝒂𝒄𝒖𝒍𝒕𝒚

𝒔𝒖𝒑𝒑𝒐𝒓𝒕
=

𝟓

𝟒
  then faculty are  

𝟓

𝟗
 of all 

employees (not 
𝟒

𝟗
 ). 

There are 2 options: 

1)  
𝒇𝒂𝒄𝒖𝒍𝒕𝒚

𝒔𝒖𝒑𝒑𝒐𝒓𝒕
=

𝟓

𝟒
→   𝒇𝒂𝒄𝒖𝒍𝒕𝒚 =

𝟓

𝟒
 𝒔𝒖𝒑𝒑𝒐𝒓𝒕 =

𝟓

𝟒
∗ 𝟏𝟗𝟐 = 𝟐𝟒𝟎. 

2) 
𝒇𝒂𝒄𝒖𝒍𝒕𝒚

𝒔𝒖𝒑𝒑𝒐𝒓𝒕
=

𝟒

𝟓
→   𝒇𝒂𝒄𝒖𝒍𝒕𝒚 =

𝟒

𝟓
 𝒔𝒖𝒑𝒑𝒐𝒓𝒕 =

𝟒

𝟓
∗ 𝟏𝟗𝟐 = 𝟏𝟓𝟑. 𝟔. – impossible. 

Thus, it must be option 1) – 𝒏𝒖𝒎𝒃𝒆𝒓 𝒐𝒇 𝒇𝒂𝒄𝒖𝒍𝒕𝒚 = 𝟐𝟒𝟎. 
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